OSTATNI PLOCHA - OSTATNI KOMUNIKACE

1551

DRUH POZEMKU

v

CiSLO PARCELY

NMQ 1140dd  AN13d0d HvSd0
810A ALS3D |SFITAIA VEAVLISAA — €01 0S NIZYN
D Jdvd Q VYHOldd

001/0001:1 SIRE NOAAYSAA S ALSI) JN10d JNYILYd - 10S 13rg0

X NMOIYINYIA VN Sosiy
sdd MMM N_M_HNW INFYLYdO INAYYdOd VBAVLS

220z/80 WN1vd NJQ3Q YMQ080d ‘MdX AMOILSO 0dd NdX ‘NdS—¥Q MINGIAVLS
ze/ Ll 0S| MVZ OLJaUIBA N AYRNoT N Ho93sn PV
ouwg 00 ¥¥9 ‘¢S owaN “0°J's
J3119}0 AXsjppodsoyopoa PR . ) i}
,wmﬂ R u_mv LR mmam.a. v.wwmﬁh
e AR N
._.Z<._.vﬁ._ ﬁomn_ m_m_> ._.Z<._.vm_ ﬁomn_ 'ddoz IVAOOVHdAA
==
=
< : : : G869
1S — L8 S —
G1869°0 el el 1’86 Dx
e
=]
00'hS —  G60LS 0008 ()
=
&
=
2g0/8 —  9v0LS 0009 (&) =
o
S
&
\; ¥0'0/§ —  S6'69G 0007 (§) —
96'695 —  98'695 28'9¢
289€9°0
22 =
S K
e SG'69G —  L£'699 Se°€2 .
o g \% T  Gd69s — 16695 —— ge6e mm%_.w@
o i 2695 —  €2'699 0002 (§) —
O&o 8
I3 // 80°695 26995 5z |
Il —
009°0 s_xs.v (1 152190 8 =
©
[T9)
07’895 —  Zv'89g 0000}
. 0789 —  2h'895 % 000 (B
X
=~/
2
.
> =
29795 —  9v/9§ — | 0288 =
= 2eL96 —  §1/9G — | €18
EES0 \ = 56905 — grow—\ | 6rw .
— - —
o 3 == 96996 — 2,996 —— e ® R%_w.m
3 ? .
i 5750 ¥°995 ¥€'995 120L =
R ~
: 6595 —  88'G95 0009 (R) &~
629550\ 6695 —  2L'G9S 62'99 )
mv. o
&
L1595 —  $0'G9G 000y (&)
: : : GL'EES
Y695 — 6895 sL'€g
S 91X
&
= rP9S — 0995 000z })
=
(o]
C=—  6ovos— zteg 9z}t =
(]
N
99695 —  99'€99 % 000 (&)
S 988y
pZ€9S —  SI'EYS 9,88 =
- oML
16295 — 81295 0008 (&) —
295 —  59'295 \rsL
o b S
o o S
o So ©
)22 pE- e e
6v 19t - |
(L
= 2
LSLhY0 .
) , L0295 —  €6'499 LSLY S
©
§ 0029 — /8499 000y (Q)
I S
a =
OEY'0 WM - LHE —— 2 08'195 — 00295 000e (§)
3 =
o 08195 — /8195 0002 =
S * R o [/ 08195 — 8195 —\ | ciel o |
N S 6,195 —  G8'195 S6'81
g s681H(0 g
6o T R ziies—  zgios seel -
ot g V0 Se 29195 —  £9'199 162 =
G-\ \ L=< Z9is6— 69195 —— 67 S| oo
sl \ SG'H9S —  8YH9g < VL€ T
“ o 2T SR 8Y'195 —  17'19g = 000 ®
LBEOWM - LN —— Saw g —F — Or'i9S —  EE'H9S 2896
PsS = = pE'L9S — /219G 9816 = .
N : OS2 0E19s—  €2195 se/8 & b
0> 2o68e = 62196 — 62195 —— 1098 < S
T TS 82195 —  +2195 — ge'18 =
<+ . . . 2
N 82195 —  ¥2'L9g 0008 () — S
N o
42
[o°] o m
$ 3 9g 6195 £9°€9 s
i e pZ 195 — 6L} : .
S C=< 1215 — 61195 —— 169 tmmmm -
= £2195 — 81195 g 0009 (®) —
o S 3 S
d w
Sr s 81195 — €195 0005 =
oS8 10 <
%S O—smmes pLI9S —  01'h9S 9g'sy
A
@Xe> 60'H9S —  €0'H9S 000y (&) —
04£2€0 g
1228
// €6'095 — 58095 obLe S
g €809 — 04095 000z (9) —
<
[a\]
o o o
d / S =
. o .
= C=— o909 — 6v0%s ISV B&w@
2 |\ 095 — b D - =
% v5'095 bp'095 —— 000 =
< o s
= S
=2 = 3
a _M/ S§095 — 22099 0698 I A
o 0698 0 / €096 —  81°09S 0v'v8 ML
S, 5 22095 — 01099 0008 (&) —
©
0 E3 5 / €0°095 96655 se'2L
— O —_— (el
=
N S€2.20 =
65695 — 965G 00109 () |—
09665 —  BE'6GS 6145
S
&
2,865 —  59'89G 000t )
=
&
S
< $8/95 —  SL/SS 0002 (%) — .
\ _ 9786 —  €9/S5G 6LL} ® @N@.N_wm
S
& &
. 0Z/85 —  S0'SS 90'
. 905028 20255 — 66955 —_ L N 000 © -
Il 8o . = L0785 — 86995 o 886
/88610 =
8980 = L1285 1285 8926 81061
— (=2
/ [—  jziss— 8158 8106 = ol
L28L°0 Y - ¥ES —— \\ &
99465 —  19'/SS 0008 () —
S
&
09L°0 INM - 62S . vr'8SS —  2€'89S 0009 () —
(a=)
ﬂ(d. .
C—=—— /855 — 59855 ez | SN.N_.WF —
16855 —  ¥8'89G 68'LY S
o 66— 20 : - 3
S« 90'655 20'655 000y (V) <2
NSDb =
~o G6'85G — 885 g9 3
XN 598810 68 v8'8 ose | 3
= > == p=1
0. [N}
S~ 88— 86485 — | S6'12 G612}
0866 — 6188 0002 —
8665 —  £/755 —— 6k — Ol
S
S S
<
86666 —  58'SSG ~ 0000}
= 86696 —  G8'GSG = 000 (© —
o jicss—  o09ss 98'16 = B16_J
= 2
= 16665 —  G8'ESS 0008 (%) — =]
o 1G5'€8S —  ¥b'ess oL ;w_,n.w_.x
8
&
p8ISG —  1L'1SS 00109 () —
o
€809 —  02°08S 6105 =
N
SL6YS —  E9'6YS 000 () —
=
LE8YS — 628K Loz, S
@
LYLYS —  vYLpS 000E (5) —
2
2 =
* (=}
§1500° =2 S s |
7 NG S 9G¥ —  2LSYS mr.mquyv 000
Lggh /O . S ——  2EGHS —  ¥EGHG 3 6t .
[06ys —  667vS LM 000 ]
00000°0 © Nz
=
L
= £
o
= = o =
S = e 9 2
& > 2 = S = "
= — oD = X = = = S
) E ,m QO = = = o o
0. i o = = = 9 O ST
0 <~ = L T L i 0c m =
<= = — = O o Ay o
aR = S Z Z a3 &5
g = = 5 O >
=90 k=) ) o — = == N =
N> s > o W w O = w

R60(44.56)

R635(45.00)

P 85.01

P 58.60

P 66.60

R30(27.61)

P 37.86

P30.10

P76.11




